RAA - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213\FL-15213.12-18.dwg, FL-15213.17

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series N Fiberglass Door

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 2010 Florida Building Code
(FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

3.  When used in areas requiring wind borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC.

4. For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

5.  Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

74.00" MAX. OVERALL FRAME WIDTH

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevation, design pressures, & general notes

Door panel details

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

Frame anchoring - 1X buck masonry construction

Endura astragal details

XN~ WIN

Bill of materials, glazing detail & components

82.00" MAX. OVERALL FRAME HEIGHT - INSWING

80.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

INSWING

74.00" x 82.00"

21.00" x 63.00"

OUTSWING

74.00" x 80.50"

21.00" x 63.00"

Gli

+47.0

-47.0

+50.0

-50.0

& s
gf f2 4%
= ~ 20 .
.gou ., Cg
-6 vz
go"!'ézr.
1-2355 :_'
335 850
Z2engiT 8
58REIME
,,(zsgzsgx.)ﬁ
= Mm
g3 fgs
P Razde §
| 'S [+] °
=8 5
2 % Wl
® 0 9
s@ £d
3
0
(]
o
wn
wn
e
ac
g8l 2
28| Zu
52
8?5 <O
o [
ggz’“"'“m
WAl
s B I
gl Yo €3
3 S| &
3 g FE
© % a
o o
o
%)
Z
)
N
II
gl
S
o
>
DaTE: 02,/16/12
SCALE:  N.T.S.
DWG. BY: JK
cHK. B: LFS
DRAWING NO.:
FL—-15213.17

SHEET _1 oF _8

© 2012 R.W. BUILDING CONSULTANTS INC.



TOME SANYLINENDD aMNICTUNE "M'H 2102 @

BO¥EY "ON "I'd “WPIMYDS "4 uopukl

D RV R A \\&I}N\
£186 "ON uoRDZUOWINY JO eIDOYPRIBD
ssoouiBul |DUCISSBIOIL JO PIDOE DPLOIY

ﬁmpmdnm.nemu.ozo:oc&
mamnn:_.._oo_.__u>omuxom.o.a \Sugu

*ONI ‘SINVLINSNOD ONIaUNG
:Ag pespdesy sjuswinoog

SNOISIAZY , N

STVIIA TINVI ¥00d A8 E LIS I T P I
T 1

SNEWNIASSY MO IMvd © = -4 ; m &

9000 Ssviodai N F g w 2_
"ONI 04dLSY1d S &lele T

. i m 15w ls

:1oNaoyd 3 £ b #

©.

EXTERIOR
4)

=

o]

[~

0

"

&9

oz \“\ o m

o o v

[a°4 (274 ]

= L <

Z / 52

/4 Q

S

o =
...... a

21.00" MAX
D.L.O. WIDTH

S
G
| o
Z 2 o S
W §]
- el
S
[+ 4
: b & ¢
o
p E ¥ ONNCD
—= b1 _.l|
& | 015
“ ! Q3
[ 4G | —=— E ’
| Bl (®)
E \|||\|\ m..l
S F——— 9%
* SIg
3= A
@ * .Ill._&m,.pl'l w
=
3 8
2%
! =5

—== LE0 =

= 1.59"

@ TOP RAIL
Cellular PVC

O

36.00" MAX.
DOOR
PANEL WIDTH

o

8 L
IHOEH "O'Td XYW .00€9

IHOIEH TANVYd 4000 XYW ST 6L —=

HINGE & LATCH STILE
Celiular PVC

Q DOOR PANEL

L1°7 'BMP'8T-ZT £TZST-1\0T0Z\sBumesq Damy "a\Z8ST Jd\009T - T0ST foad\siopjod pafoid\sinalold - v\



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 3.17

1-1/4" MIN.

EMB. (TYP.)
\

a -

Y

0.15"
< C'SINK
(TYP)

\

/1 "\ HORIZONTAL CROSS SECTION

\3/

Qutswing shown - inswing
also approved

NOTE:

1-1/4" MIN.

EMB. (TYP.)
@) (o) )
e
e
AN
. -
@
g . V

7

AN OBARA RN AN
7

14

EXTERIOR

e

7

e

/4 "\ HORIZONTAL CROSS SECTION

w Shown w/1X sub-buck

1. As noted in the test report astragal was attached

to the inactive leaf with {10} #8 x 3" psh sms and

{4) #10 x 2-1/2 pfh sms for all §-8" {outswing).
Astragal was attached 1o the inactive leaf with
{?) #8 x 3" psh sms and (4) #10 x 2-1/2" pfh sms

for all 6-8" {inswing).

(8)

0

INTERIOR

(45

INTERIOR

-

EXTERIOR

~3

SEE
NOTE 1

EXTERIOR

/"2 "\ HORIZONTAL CROSS SECTION

NE

Cutswing shown - inswing
also approved

@) &)

0.15"
C'SINK —»]
(TYP.)

CP

Zh\

ZZ) Nk

S 000

/~3"\ HORIZONTAL CROSS SECTION

\i/ Outswing shown - inswing
also approved

1-1/4" MIN.
EMB. (TYP.)

A N TN

thorization Neo. 9813
Lynden F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.

P.0. Box 230 Valrico FlL. 33585

Phone No.: 813.6598.9197
Florida Board of Professional Engineers

Certificate Of

Ry

Documents Prepared By:

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

REVISIONS

=
5
o
=z
2

oatE: 02/16/1

SCALE:  N.T.S.

DWe. BY: JK

che. B: LFS

DRAWING NO.:
FL—-15213.17

sHEET 3 OF 8

© 2012 R.W. BUILDING DONSULTANTS ING.



TONE SBANYLINSMNOD aMNIGTUNE MY S1L0Z @

— 80PEH "ON "I'd “IPIUYSS ‘4 uopuA] SNOISIATY ~
ez o) SNOILO3S SSoM0 Tvouyaa |28 WIS slxlo] 5|
O DZLIO! [oaters) @ -
cieuibu3 IBuoBEsIoI 36 PIood BPLIOL _XTANISSY_¥0_Iivd SI=| 7P 5|8
SBSCE ™14 OOMIDA OFZ X08 ‘O°d \N\w@. "ONI 0¥dLSY1d ol |&|Elg 1
"ONI ‘SINVLINSNOO ONIGINg ‘ i m 2| B
:Ag pesodesd sjuswnoog <LONA0Yd &S m M W &
- ("dAL) “aw3
NIW ./ 1-1
_ 96
. ﬂ‘w j
I e s 5
SHHL T v o ©) .
. oz oc
v = = = @ =
) zl g z o
| 3 5
< iy By
| a2 c
< ® [ ]
. @ 2 = b <lp=
. x 98 3 \ S
v p O|2 N o|2
Lob =S \ 35
s mw Qo
]
4 S 8 8 3k
i i
o~ © i B ©° e

(dAL) gwW3
"NIW b/ 1-1

("dAL) a3
"NIW ./ 1-1

(*dAL)
~— JNIS.D
S1°0

o =z o) 2

= O & O

z m o z m

I B e

| Qe A\ o
2l Q5
SIFX O rm
=X X =i
J .mm : C.W

g ‘

- EEg _ =2
>|68 y . >0

o ‘

o @) 4

m mw m s . 4 mw

& 5 ®

>< >< ¢

LLd [N ]

('dAL) gwa _|
"NIW /11

L1 'BMP8T-ZT €126 T-1\0T0Z\sBumelq J8my “a\Z8ST 4d\009T - 1051 losd\siapiod pefoid\sidafosd - v\



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 5.17

| e 4"

MASONRY ;

OPENING

2X BUCK—\

TYP. HEAD
& JAMBS

ASTRAGAL
SHOWN FOR
REFERENCE
ONLY

Il
1
I

l
|
[l —_
|l
|l
1

]

e ]

-

|

19" MAX
ON CENTER

o 3 R
< R L PR A
s el 9 e

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

HINGE JAMB

MASONRY
OPENING

FRAME v

2X BUCK\‘

St

3"

TYP. HEAD &
JAMBS

ASTRAGAL

Il
1
Il
|l

SHOWNEOR A |

REFERENCE
ONLY

SEE DETAIL

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and cenfer distance requirements.

2. Concrete anchor locations at the comers may be adjusted to maintain the min. edge
distance fo moriar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required fo ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

W 1/4° 1-1/4" 2-1/2" 3
ELCO 1/4" 1-1/4" " p
W 3/16" 1-1/4" 2-5/8" 2-1/4"

¢
|

SEE DETAIL
"2"

FRAME ANCHORING

Masonry 2X buck consiruction

R

14" MAX.
ON CENTER

5.5" ——1 l‘—

ASTRAGAL STRIKE JAMB

S

LATCH & DEADBOLT DETAIL

O

\
W

—©

NG

DETAIL 2

DETAIL 1

Inswing configuration

O
W
A\
HINGE DETAIL
i
- o\, N
\S = = '&',:
DETAIL 1

Outswing configuration

é
e e Co
.2 g§m ¥
:F
gn SRO¥
(=4 .
LEEFIE:
%o“?ﬁz .
EB 5exJHY
Sge w3 (L0
p>M eV
= ou= M o
..%%“E'aﬂ\g
A AN}
.ggéz"ag ]
03_295 [
$§5028, ¢
u_mn.n.m-s ®
@ gé &
E g'ﬂ:f -~
@ ("I
E@§ s
3
[3]
b3
33
o=
=3
o XE
e S
SS Fn
Z9 %g
oW .. o
A% be
S EES
Veln £5
i 171l
a2 g
e Mg 8
8 S| wXx
a oL
o} g 23
[ < M
o o
p
m
)
=
O
2
ol
e
=
o)
o
Z
oAaTE:  9/4/08
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15213.17

SHEET 9 OF 8

@ 2012 R.W. BuiLDiNG CONSULTANTS NG,



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 6.17

G \\\ 2 p g
ey - - I 10 N g g 1] = S
e L 7 L &1 g8 55 ¥
¥ SRR I NP y GESE 8
= R : ——= — S A g B2z .
" I T I ‘ N ®\ i éﬁﬁs&'&*
2 e SR | X 28 " § B s
o § e = B ) g 2 5% I ‘L B
— i || \_se DETAL _ 5888
2 e : ; 3 non o - g 5z % 3 ]
= [ §35385
<A TYP. HEAD & \Y PRca8e §
o 7] v
MASONRY B JAMBS I = s g8 5
2 ) HINGE DETAIL £ T 7
= OPENING } ’ ; @ 5%
=3
| 8
x
- el || "\ AsTRAGAL t S,
1Tk q © SHOWN FOR o mg
|| REFERENCE ONLY % s8l =8
I iz K SO o
= = 7Y oWl =
xz 3 £33 85
= 1X BUCK || g§l§ S,
amo <
. \ ] H 27 L N
= I /4 3 g
PR TYP. @ SILL ¥ =
1 EE] < SEE DET!}}'& I LATCH & DEADBOLT DETAIL -
. @
L 0Nl I - — W | - @%\ ®
P . .
il' oEr =z
HINGE JAMB FRAME ANCHORING ASTRAGAL STRIKE JAMB ST ° ° gy %
Masonry 1X buck construction El
o
CONCRETE ANCHOR NOTES:
1. Substitution of equal concrete anchors from a different supplier may have different edge DETAIL 2
distance and cenfer distance requirements. e
2. Concrete anchor locations at the comers may be adjusted to maintain the min. edge @ L)
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER” must be e
adjusted to mainfain the min. edge distance to mortar joints, additional concrete anchors =
may be required fo ensure the "MAX. ON CENTER" dimensions are not exceeded. \' S
3. Concrete anchor table: ;:g (! ° ] % !
- = = baE:  9/4/08
scalE: N.T.S.
DWG. BY: JK
W e 1-1/4" 21/ 3 cHK. BY:  LFS
w " " o DETAIL 1 DETAIL 1 DRAWING NO.:
mw 3/16 1-1/4 2-5/8 2-1/4 Inswing configuration Outswing configuratfion FL—15213.17
SHEET 6 OF _8_

@ 2012 R.W. BUiLDING DONSULTANTS ING.



TON] BLNYLINENDD INIOTINE MY 2 1L08 @

60%EH "ON I'd “WPIUYOS 4 uopuky SNOISIATY ~
erdrz pJE7 SIVIIQ TvovalSy wanang |28 VA N | sl =[]
$1L86 "ON UORDZUOWNY JO IDouRJeD - o Sihp o=
sie0uiBuz |DUOIBSOLOIY 1O PIDOE DPLIO| SATENESSY H0  Livd ,M»./ =~ o m &
LB16°6S9°CLE TON SuOyd #0000 SSYI9434i4 wuz Z gw 7_
565EC 4 OOUIDA 0£Z Xo@ '0'd \N\w@, "ONI OMdLSYTd ElEle
"ONI ‘SINVLIINSNOD ONIGING . i m : m 2B
:Ag pespdesd suswinoog <LoNgodd & M M m &
£ v
<74 ] 2w
| S 1 =5
8 lx o] mw_
) el | O e =
R - L Ole: o=
WOLLO® AE T &l
“3 060 —— @ 060 |
T I
| I
il
R
=)
g N
- o 90 B
O A
: :
=z o~
= J
T o .
& | et
O , g
S m g
@) 5|2
il SE
.- " INDM
S\s
® W: ) S
p. Kol =[|n
@ £
: : ®
4 <
il <5 <T
I o) 33 32
_ I3 o ge m G
« m a S <
° o £
« 33
=
Lid
. Q » s 2z 2
3 . =
3 2 3
™ %
-]
[
|
O
T
=
(24
T
=
!T.L 8
0 1L ]
A )|
m O
— ..Nm”.Oi T’
[+] N o pe——
= =
2 S
S —~ = 33
® mD B ”.Wv
N il
o] =i
= (®)
o I
- |4|ﬂ
%:.m » | | | L .m
B NN AN
NT = V-
dOl

2172 'BMp8T-ZT €128 T-T\0T0Z\SBuIMeIg DEMY "A\Z8ST 4d\009T - 1051 [osd\siepiod pafoid\sioafosd - v\t



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 8.17

Lo Zera_

\ AIR SPACE
1/8" TEMPERED

BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL _|ITEM] DESCRIPTION MATERIAL
A [1XBUCKSG >=0.55 WOOD 20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
B [2XBUCKSG >=0.55 WOOD 21 | POLYFIBER JAMB COMP. / VINYL
C | 1/4" MAX. SHIM SPACE - 27 | LATCH STRIKE PLATE STEEL
D | 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL 28 | DEADBOLT STRIKE PLATE STEEL
£ | MASONRY - 3,192 PS| MIN. CONCRETE CONFORMING TO ACI CONCRETE |39 _| WEATHER-STOP 3647 HOLM INDUSTRIES VINYL
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 31 | OUTSWING BUMP THRESHOLD ALUM./ WOOD
F_|1/4"X 2-3/4" PFH ITW CONCRETE SCREW STEEL 32 | VINYL DOOR BOTIOM SWEEP #3628 BY HOLM IND. PVC
G | 3/16"X 3-1/4" PFH ITW CONCRETE SCREW STEEL 33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
H | 1/4"x 3-1/4" PFH TW CONCRETE SCREW STEEL 34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
|| 1/4" X 2-1/4" PFH ITW CONCRETE SCREW STEEL 40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
J | 1/4" X 3-3/4" PFH ITW CONCRETE SCREW STEEL 41 | DOOR SKIN {MIN. 0.075" THICK) FIBERGLASS
K | #9X 2-1/2" PFH WOOD SCREW STEEL 42 | TOP RAIL CELLULAR PVC
L | #10X2-1/2" PFH WOOD SCREW STEEL 43 | LATCH & HINGE STILE CELLULAR PVC
M | #9 X 2-1/4" PFH WOOD SCREW STEEL 44 | LOCK REINFORCEMENT WOOD
N _|3/16" X 3-1/2" PFH ITW CONCRETE SCREW STEEL 45 | BOTTOM RAIL CELLULAR PVC
O | 3/16" X 1-1/2" PFH ITW CONCRETE SCREW STEEL 46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
1 [#10X2-1/2"PFH SMS STEEL 47 | CONTINUQUS LATCH & HINGE STILE REINFORCEMENT WOOD
2 | #8X 3"PSH SMS STEEL 49 | GLAZING COMPOUND DOW 995 SILICONE
3 | FLUSH BOLT STRIKE PLATE STEEL 55 | LIP ITE ODL/WESTERN REFLECTIONS HP POLYPROPYLENE
7 | Q-LON 650 WEATHER STRIP SCHLEGEL FOAM 56 | GLAZING SPACER ALUM.
8 | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM 57 | #8x 1-1/2" PFH LITE FRAME SCREW STEEL
9 | 4"X 4"BUTT HINGE STEEL 61 | 4-3/4" LENGTH TOP BOLT RETAINER HDPE
10 | #9 X 1" PFH WOOD SCREW STEEL 62 | 9-8/4" LENGTH TOP BOLT RETAINER ALUMINUM
11 | #9 X 3/4"PFH WOOD SCREW STEEL 65 | ASTRAGAL BY ENDURA PRODUCTS ALUMINUM
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL 67 | SLIDE BOLT ROD STEEL
18 | KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL
4.56 ' e § | 448 *
_ AN t I B
y %\\\C_ o [ T T T g
- 3 e = I -
N PP S - T T
. | ‘ * | 24k ——l 13— ] 31 ) QUTSWING BUMP THRESHOLD
(20 )-HEAD & SIDE 0.5" GLASS 1" MIN.
.W ,, ?5;2 b:;r s;?nfb BITE GLASS THK.
1/8" TEMPERED
“ | GLASS
> l = 456" | /
I ‘ . — AIRSPACE
l ) OPTIONAL
?g \DECORATIVE INSERT
T

@ ADJUSTABLE INSWING THRESHOLD

@ ADJUSTABLE INSWING THRESHOLD

GLASS

55 @ C) GLAZING DETAIL

i I3
2 ., .8
o Ky 0‘_
gr L5y
z . i
;ES W g
gsgi’z ul
FE8 2§\ o
a>n=‘6 o
= g B
ZOow BT 2
0 £ F G E
@ Nt Ci\.:
gggzs§\\$
E3%es
—OOU
g 2L 0g g
n_mn.n_m*s £
o 8 £
8 v & b
[ T £
@ 0 8
1%L
il
3
%)
Se
' gz
s9 ©Y
= .S
=0 3&
205 =3
=<5 B
el I
nt
T8 52
= o
e
S ) =
a o
&
%]
b
O
4
or
=
<
o
o
=z
oaTE: 9/4/08
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFs
DRAWING NO.:
FL—-15213.17

SHEET 8§ OF _8

@ 2012 R.W. BuiLDiNg CONSULTANTS NG,



